EDUCATION
1.  Which branch of philosophy deals with knowledge, its structure, method and validity ?

(a) Logic (b) Ethics (c) Epistemology (d) Metaphysics
2.  Education changes the
(a) Values (b) Attitudes
(c) Objective and meaning of life (d) All of the above
3.  Education is the aspect of philosophy and philosophy is the aspect of
education.
(a) dormant, dynamic (b) practical, theoretical
(c) theoretical, practical (d) dynamic, dormant
4.  “Child is an integral part of the ultimate universe” is the view point of
(a) Pragmatism (b) Idealism (c) Existentialism (d) Realism

S.  The implication of logical positivism is
(a) Student should know about the ultimate reality.
(b) A teacher needs to be of positive attitude.
(c) Analysis of language is important.
(d) Meta physical part must be converted to life principle.

6.  Theory of representative knowledge was accepted by
(a) Yoga (b) Sankhya philosophy
(c) Advaita vedant (d) All of the above

7.  Buddha was the first man to challenge the caste system in the
(a) 4™ century BC(b) 5" century BC (c) 6" century BC (d) 7™ century BC

8.  The book, “Diva Swapn” was written by

(@) MK Gandhiji (b) Gizzu Bhai (¢)  Sri Aurobindo (d) J. Krishnamurthy
9.  The main aim of school supervision is

(a) Evaluation of teachers (b) Improvement in teaching learning process.

(c) Development of group morality (d) Evaluation of school system

10. The concept of positive education was given by
(a)  Sri Aurobindo (b) J. Krishnamurthy(c)  Gizzu Bhai (d) Vivekananda

11. Auto didacticism is self directed contemplative, absorptive process in which learner learns

through
(a)  Discussion method (b) Laboratory & Experiment
(c) Resources of library & websites (d) Project based learning
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“Education consists of methodical socialization of a young generation”. Who said this ?

(a) Durkheim (b) Oliver (c) Ottaway (d) Ross
The fundamental national values of India have been given in

(a) Articles of Constitution (b) Preamble of Constitution
(c) Entry in list of subjects (d) All of the above

Marxist theory believes that change comes through revolution because it changes
(a) Existing structure (b)  Whole of systems
(c) Partial change in structure (d) Nominal change in the systems

Beginning with family as the lowest unit which of the following is in correct order ?
(a) Nation-Race-Class-Tribe-Family (b) Family-Class-Tribe-Race-Nation
(c) Family-Tribe-Race-Class-Nation (d) Family-Race-Class-Tribe-Nation

Why is “Sharda Act” important in Indian context ?
(a) To restrain Sati Pratha

(b) To educate girl child

(c) To eradicate child marriage

(d) To make women economically independent

Who is the author of the book “Economy and society” ?

(a) Max Weber (b) A.Comte (c) Durkheim (d)  Anthony Giddens

Which statement holds true as per Ottaway’s theory of social change ?
(a) Education changes the society.

(b) Educational change follows social change.

(c) Educational and social change are independent of each other.

(d) Educational and social change are interdependent.

Match the following :
List-I List-II

A. Social stratification 1. Education
B. Social mobility 2. Modernization
C. Social change 3. Caste / Religion
D. Social constraint 4. Reservation
Codes :

A B C D
(a) 4 2 1 3
(b) 1 2 3 4
(c) 2 3 4 1
(d) 3 1 2 4
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20. Which of the following is not an active agency of socialization ?
(@) Community Centre (b) Family
(¢) Religious Institutions (d) Railway Station

21. What kind of women empowerment will be far reaching ?
(a) Through Personality development  (b) Women Education programs
(c) Economic independence (d) Women as Heads and Leaders

22. Parochialism is a characteristic of which of the following ?
(a) Class (b) Regionalism (c) Caste (d) Religion

23. According to Piaget, showing reasoning ability of a child based on hypothesis shall be in
the age group of
(a) 2-4 years (b) 4-7 years (¢) 7-11 years (d) 11-18 years

24. Removing a desirable stimulus or presenting an unpleasant one to decrease the occurrence
of a response 1s called
(a) Obstacle (b) Punishment (¢c) Reward (d) None of the above

25. Calculate the I.Q. of a 12 year old child, whose mental age is 9 years :
(@ 85 (b) 75 (c) 70 (d) 100

26. What is not true about learning ?
(a) Learning is a permanent change in behaviour.
(b) Learning is maturation
(c) Learning happens through experience.
(d) Causes change in behaviour.

27. Which of the following is a wrong pairing ?

(a) R-O-S theory of learning — LP. Pavlov
(b) S-R theory of learning with reinforcement —  Guthrie

(¢) R-S theory of learning — Hull

(d) S-O-R theory of learning —  Skinner

28. If a child on maturity attains a height of 4 feet only which system is supposed to be
responsible for this short height
(a) Central nervous system (b) Skeleton system
(c) Growth hormones deficiency (d) Inherited conditions

29. Which of the following is not a function of Brain ?
(a) Inhibition of impulses (b) Reasoning
(c) Attention (d) Reflex actions
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40.

Who of the following is not a behaviouristic psychologist ?
(a) Edward Thorndike (b) J.W. Watson
(c) B.F. Skinner (d) A.Maslow

Who said it “Personality is located in the brain — No Brain no personality” ?
(a) Cattell (b) Eysenck (c) Henery Murray (d) Kurt Lewin

The emphasis upon psychology in teacher education is best justified on the basis of the

need
(a) to prevent abnormal behaviour. (b) to promote intelligent behaviour.
(c) to understand human behaviour. (d) to define acceptable behaviour.

First psychological laboratory was established by
(a) Galton (b) Cattell (c) Pestallozzi (d) Wundt

Noam Chomsky proposed the theory of language development in children is known as
(a) Complex language system (b) Linguistic attainment model

(c) Language acquisition device (d) Common human language system

Cerebral palsy is a disease related with
(a) Visually impaired (b) Hearing impaired
(c) Orthopedically disable (d) Learning disable

The National Institute of hearing handicapped located at
(a) Mumbai (b) Kolkata (c) Dehradun (d) Hyderabad

National Institute for the visually (NIVH) handicapped is situated at
(@) Delhi (b) Bangalore (c) Dehradun (d) Mumbai

Dyslexia is a problem associated with
(a) Physical disability (b) Mental disability
(c) Locomotor disability (d) Learning disability

The National Institute of orthopedically handicapped is located at
(a) Kolkata (b) Dehradun (c) Hyderabad (d) Mumbai

Partially sighted children come under which category of visual acuity ?
(a)  Upto 20/200 or less (b) Between 20/70 and 20/200
(c) Between 20/100 and 20/70 (d) Upto 20/60 or less
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41. In which country Braille was developed first time ?
(a) UK (b) USA (c) France (d) Germany

42. “Myopia” is related to which part of the human body ?
(a) Eyes (b) Ears (c) Mouth (d) Teeth

43. Which of the following is not a correct way to fulfil the needs of gifted children ?
(a) Promotion in next class (b)  Enrichment programmes
(c) Special classes (d) Brain storming sessions

44. Broadly speaking, the term ‘“delinquency refers to the breaking of some law,” who gave
this statement ?
(a)  Skinner (b) Velentine (¢c) Good (d) Helly

45. One of the causes of Anoxia is
(a) Lack of oxygen at the time of birth
(b) Physical disability due to weakness
(c) Hard of hearing due to bacterial infection
(d) Speech impairment due to psychological cause

46. Most associated with the education of mentally retarded children is :
(a) Leta Hollingworth (b) Lewis Terman
(c) Nancy Bayley (d) Christine Ingram

47. Which level of measurement has absolute zero point ?
(a) Nominal level (b) Ordinal level (c) Interval level (d) Ratio level

48. Percentile scores are related to which of the following ?
(a) Nominal scale (b) Ordinal scale (c) Interval scale (d) Ratio scale

49. Introspection method lacks
(a) Reliability (b) Validity (c) Objectivity (d) All of the above

50. The two most important characteristics of a standardized test are :
(a) Objectivity and Reliability (b) Reliability and Validity
(c) Validity and Utility (d) Utility and Objectivity

51. A researcher wants to measure attitude of youth towards modernization. He will use
(a) Projective technique (b) Interview
(c) Likert Scale (d) Sociometry
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The tool that can be used for in-depth data collection is
(a) Test (b) Interview (c) Rating scale (d) Observation

Test, not requiring the use of language but responses are in the forms of activities are
called
(a) Verbaltest (b) Non-verbaltest (c¢) Performance test (d) Intelligence test

The rational equivalence type of reliability is determined by
(a) Test-retest method (b) Parallel form method
(c)  Split half method (d) K.R.Method

In a normal distribution, the value of skewness will be
(a) Zero (b) Positive (c) Negative (d) None of the above

Who of the following made teaching machine ?
(a) Glaser (b) B.F. Skinner (c) Bloom (d) Sidney Pressey

The word “Isolation” in teacher education was given by
(a) NPE 1986 (b) Kothari Commission
(c) Mudaliar Commission (d) Hunter Commission

By which university four year integrated B. Ed course was started for the first time in
India ?

(a) Delhi University (b) Mysore University

(c) Vishwa Bharti Shanti Niketan (d) Kurukshetra University

Which body given recognition to teacher education institution in the field of special
education ?

(a UGC (b) RCI (c) NCTE (d) AICTE
“Animals are trained but teachers are educated,” was the thought of

(a) W.H. Kilpatric (b) John Dewey

(¢) S. Radhakrishnan (d) Swami Vivekananda

In which year DPEP was started ?

(a 1990 (b) 1994 (c) 1998 (d) 1996

Internship is must for teacher education because it provides :
(a) Content courses

(b) Practical courses

(c) Complete exposure school environment

(d) None of the above
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Which university awarded “first Ph.D. in education” in India ?
(a) Calcutta University (b) Bombay University
(c) Madras University (d) Mysore University

Where is the head-quarter of NCTE situated ?
(a) Ajmer (b) Chandigarh (c) New Delhi (d) Lucknow

In which year NCERT was established ?
(a) 1960 (b) 1963 (c) 1961 (d) 1958

Which of the following gave recommendation for the establishment of a department of
education in each university ?

(@) Wood’s Despatch (b) Sargent Report

(¢) Sadler Commission (d) Hunter Commission

In which year UGC was established ?
(a) 1953 (b) 1955 (c) 1958 (d) 1956

“A teacher can never truly teach unless he is still learning himself. A lamp can never light
another lamp unless it continues to burn its own flame”. This statement is given by

(a) Mahatma Gandhi (b) R.N. Tagore
(c) Swami Vivekananda (d) John Dewey

Which of the following is related to NPE — 1986 ?
(a) RIE (b) CASE (c) IASE (d) NIT

Indira Gandhi National Open University was established in the year :
(a) 1980 (b) 1987 (c) 1985 (d) 1975

In rejecting the Null hypothesis the researcher is expected to do which error ?
(a) Type I error (b) Type II error
(c) Both Type I and Type II error (d) Neither Type I nor Type II error

Case study method gives importance to
(a) Prediction (b) Generalization

(c) Cause — work relation (d) Unique characteristics
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

The “hypothesis is formulated” usually on the basis of

(a) Setting up the relationship between two or more variables.
(b) Nature of the variables.

(c) Reading various research literature.

(d) Holding conversation with supervisor.

The effectiveness of multimedia approach in teaching can be studied through :
(a) Experimental study (b)  Survey study
(c) Case study (d) Longitudinal study

Pre-test, Post-test randomized matching control group design is an example of
(a) True experimental design. (b) Pre-experimental design.
(¢) Quasi-experimental design. (d) Post-facto experimental design.

The status-quo of a situation in research can be studied through :
(a) Experimental Research (b)  Survey Research
(c) Historical Research (d) Phenomenological Research

While conducting experimental research, a researcher should control :
(a) Independent variables (b) Dependent variables
(c) Extraneous variables (d) All type of variables

Which one of the following is the most stable measures of dispersion ?
(a) Range (b)  Quartile Deviation
(c) Standard Deviation (d) Average Deviation

Which of the following is not a non-parametric test ?
(a) Sign test (b) t-test (c) Median test (d) Run test

The reliability of 100 items test was found 0.80. If the number of items are increased to
300, what will be the reliability of the new test ?
(a) 0.82 (b) 0.86 (c) 092 (d) 0.72

With a Mean = 80 and Standard Deviation = 20 in a distribution, the Z score of individual
getting 60 marks will be :
(a) 0.1 (b) 1.0 (c) -0.1 (d -1.0

If a constant is added in all scores, the value of which will remain the same ?
(a) Mean (b) Mode
(c) Standard Deviation (d)  Quartile Deviation
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73.  aftereun 1 fmior g: fore sam W fpar S 2 2
(a) <9I 3Tfreh =/ o i graey T1fUd i
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(d) YIAETH T FTaEid o TR T
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(c) HH WS gR (d) < IERE g
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77.  SRINTICHe SN hid §T U INerehd sl Farfera s =nfeu :
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(a) JER (b) Tqs foaem

(c) WM foreH (d) 3hEd fomem
79. T d @ st whem T ? ¢

(a) Tog ol (b) A-uie

(c) HeATH T (d) W udeun

80. 100 9&i < U wieror Y fagafrrar 0.80 yrH 5% | Afe wlieor § uei ht @A s 300
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(@) 0.82 (b) 0.86
) 0.92 d 0.72
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& 60 37y fRA & 7
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c) —0.1 (d -1.0
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Which of the following is not a feedback technique of teacher behaviour modification ?
(a) Micro-teaching

(b) Role playing teaching

(c) Flanders’ class-room interaction analysis technique

(d) Actual class-room teaching

A group of 120 students appeared in a test. The mean score of one third of the students was
found 60 and remaining students was found 78. The mean of whole group will be :
(a) 76 (b) 74 c) 72 (d 70

If data from two variables are on nominal scale and there is true dichotomy, the
appropriate estimate of coefficient of correlation will be :
(a) Bi-serial correlation (b) Point bi-serial correlation

(c) Tetra-choric correlation (d) Phi-coefficient

Standard deviation of a sampling distribution is called as
(a) Standard Variance (b) Standard Error
(c) Sampling Variance (d) Sampling Error

If standard deviation of a distribution is 6.00 and N = 100, the standard error of mean will
be :
(a) 6.00 (b) 0.60 (c) 0.06 (d) 0.006

The Dimensional sampling is extension of
(a) Quota sampling (b) Stage sampling
(c) Cluster sampling (d) Purposive sampling

‘F’ value is calculated by finding out the ratio of :

(a) total sum of squares and between sum of squares.
(b) between sum of squares and within sum of squares.
(c)  within sum of squares and between sum of squares.

(d) within sum of squares and total sum of squares.

In a normal distribution, the three central tendencies position is :
(a) mean is less than median

(b) median is less than mode

(c) mean is greater than both median & mode

(d) All three measures are at same point
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98.

99.

100.

Formula for calculating standard error of Z(G,) is :

1 1
@ N3 ® N3
1 1
© N_2 @ N

Mastery learning strategy is presented by
(a) B.S.Bloom (b) Davis (c) W.H.Kilpatric (d) Ross

Management technology has its contribution to teaching in the form of
(a) Hardware Approach (b) Software Approach
(c) System Analysis (d) Behaviour Technology

At the first time, in which country Team teaching was originated ?

(@)  United Kingdom (b) Canada

(c)  United States of America (d) Brazil

NUEPA is located at

(a) Jaipur (b) Hyderabad (c) New Delhi (d) Kolkata

“The school is a cooperative society” who gave this statement ?

(a) Ryburn (b) Ottaway (c) Nunn (d) Luther Gullick
When was Ministry of Education changed to Ministry of Human Resource Development ?

(a) 1985 (b) 1990 (c) 1980 (d) 1986

Supervision is a planned programme for making improvements in school system.” It is said
by
(a) Adams (b) Ross (c) Ryburn (d) S.N. Mukherjee

What is the serial number of the activity of “Ask questions” in the Flanders Interaction
analysis scale ?

In India adequate system of inspection of the institution has been originated from :
(a) Wood Despatch 1854

(b) Macaulay Minutes 1835

(¢) Education policy of Lord Curzon 1904

(d) Auckland Minute 1939
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(a) 6th (b) 3rd
(C) 4th (d) Sth
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